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Estimating Differences

Members of the Biology Club caught 288 butterflies and  

136 grasshoppers in their nets. About how many more  

butterflies than grasshoppers did the club catch?

You can estimate by rounding. To round to a certain place, look at 

the digit to the right of that place. If the digit is 5 or greater, round 

up. If the digit is less than 5, round down.

Round to the nearest hundred. 
Look at the digits in the tens place.

    288   →   300

2 136   →   100

200

There were about 200 more butterflies 

than grasshoppers caught.

Round to the nearest ten. 
Look at the digits in the ones place.

    288   →   290

2 136   →   140

150

There were about 150 more butterflies 

than grasshoppers caught.

Estimate by rounding to the nearest hundred.

 1. 442
2  112

 2. 725
2  278

3. 363
2  187

Estimate by rounding to the nearest ten.

 4. 68 2 42 5  5. 88 2 17 5  6. 231 2 109 5 

 7. Critique Reasoning Charlie estimated 293 2 44 and got a difference 

of about 250. Is this a reasonable estimate? Explain. 
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